1970] OF THE PYTHAGOREAN TRIPLE (a,b = a +1,c)

2 2 -
Pn+1 * Pn a P2n+1 = Cy e
Also, the smaller leg is
2n
2 P =a or b .
m n n
m=1
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Except for thelowest nontrivial value 3, the values forboth legs are obviously

composite numbers.

Lot aoa o
[Continued from p. 379. ]
TABLE 2
fi = e fs = e fs = eqeq - €3
€ -ey’
f, = e3 - eje; - eqeg + €4 + e2< 2) fs = -eqe9 + e3-ege3+e5+e1( 9 )

-€4 -€4 -€4
fs = ejep - e3 + 2eqe5 - 2e4 - 2e;| 5 | teey - €g - €| g J-e3| ,

. -€4 -€y
f7 = eiez—e3+eie3-e4—e2(2 +e2e3-e5—e1(2

-ey
+ eqe5 - ey + egey — eqeges -+ ( 2 >(

.

-€9 -€9 =€y
fg = ejeq - eg + 2eqe3 - 2e5 - 2e1( 2) +ege; - eg - €3l o, |-e1\ g

TABLE 3

hi = €9 hy = e hy = ejey - e;

€9 €y
h4=—e5+e1(2) h5=—e4+e2<2) hg = -eg + e

ey €9 €
h7=-e7+(2)(2) hs = —e6+e2 3
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